MINOURN J7F+ ) 7EER 12mm A)Ib=77 AIV:RBE Y b (142mm/ 148mm 18H)

w8 12mm 2 —TP o RVROBEEIC P+ U PEEET 3 OOKE ZR—4 2mmE) x5 #50593
R anmstbin: LT
944924120214

EERFCHBAB IO ENEBZEVVOMENAERE 22, 3BED o

Eh3RLEY FESRTBILAELY R T, A—/\—0y o3y hEEH TTNZAN=Y 4

—fRE973 142mm IBICIDZ. D1 K73 148mm IBIC B L TVET, N

4k v /VTF—IVEED2RXY (BTWALY F) IKARRIEEAT. HECHEATBYA R Ly FOEDE
& FDLAATENES,

HENERBLER (£8) THHLETY)

»25T2 JEEENR D,

2mm AR F=N=AR=H 79 RIVALR FHEBZIRLCE

Dm ‘MDN@@M M12 lengih 183 ’

-7 57 2 -
(_v7*vU7aREdscE ) £y TR b M52 E 14 M5x16
F U TH TL—LIVR (f%%fiw‘ﬁm’%ﬁﬂiy

"

i E———— e

MSETy v (1#) M5 ¥ETy v (5HER)
@ 12mm EDI Y FIES B+ v ) 72 RET BIRRRARN—TEAN, TEBLITEANMHIC,

1= ]

O7L—LIYFGEIKMHFIIANENTVEEER, T/ AN EANS,
= L wrruTomyses)

HEIDEERI,
FHET vy v &
WEY, ThsT
BREVE LA,

(TA4 L= H—FERYIHF3Iid)

| [84ET] #MREut Bl 75032312 IEEERN\BHFEITE 134-1 Phone: (0584) 27-3131  Mail: infodesk@minourajp Web: www.minourajp — H7 |

Vgl [0 l8 LN Universal 12mm Thru Axle Set for Mounting Rear Rack (compatible with 142mm & 148mm wide hub)
™~

Spacer (2mm thick) x 5 #50593

924 120214H

47944

Choose the applicable thread size one\
to your bike frame and connect it to axle/

The perfect set of 12mm thru axle for installing front racks. With so
many thru axle specs on the market this set fixes the issues of fit by
including three different thread pitch sizes in in one set.

The axle body will also fit 142mm hubs as well as the 148mm size.
(NOT compatible with DOUBLE THREAD design such as found on
Cannondale. We supply the special thread in gold color separately.)

Required Tools 4mm & 6mm Hex Wrench )

2mm Spacer Taper Spacer Axle Body Jointable Thread

W ¥ J/ /

‘ ‘MDN@UM M12 lengh 163 ]

Taper Spacer

( How To Mount Rear Rack ) Cap Bolt M5x12 or M5x16
Rack Leg Fork End (Use the longer size) X

N

i

1 x M5 Flat Washer 5 x M5 Flat Washers

@ Insert a few spacers when using on 142mm wide hub or to make it as symmtrical as
possible when mounting a rack.

= ]

@ If the frame end has a dent on its end, use the Taper Spacer.
DM <— | ] [How To Mount Rear Rack]

You only need the
washer with teeth
if you install a
derailleur guard.

[How To Mount Derailleur Guard]

MINOURA JAPAN  134-1 Shimomiya, Godo, Anpachi, Gifu 503-2312 Japan ~ Mail: minoura@minoura.jp  Web: www.minoura.jp ~ Made in Japan




